ENVIRONMENTAL RESOLUTIONS INC. SUMMARY OF BIDS Bid Opening 10/23/2024 @ 11:30 AM		Cedar Street Water Main Replacement Project Medfor Township Burlington County, New Jersey 25110 22								
Би Ореннід 10/23/2024 (#/ 11:30 AM	Engineer's Estimate		Earle Co.*		Think Pavers *		Gemini General Contracting, LLC			
					PO Box 556 Farmingdale, NJ 07727		125 Kings Highway Mt. Royal, NJ 08061		4 Lange Court Mullica Hill, NJ 08062	
				P: 732-308-1113 x 206 F: 732-308-1034		P: 856-832-4680 F: 856-832-4681		P: 609-221-4533 F: NO FAX		
NO DESCRIPTION	QTY UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	
BASE BID										
1 6" CLDIP Water Main, Restrained Joint	550 LF	\$120.00	\$66,000.00	\$132.10	\$72,655.00	\$80.00	\$44,000.00	\$143.00	\$78,650.00	
2 6" Wet Tap and Valve	1 UN	\$11,000.00	\$11,000.00	\$8,978.13	\$8,978.13	\$9,999.71	\$9,999.71	\$12,000.00	\$12,000.00	
3 6" Gate Valve and Box	1 UN	\$4,000.00	\$4,000.00	\$2,800.00	\$2,800.00	\$39,000.00	\$39,000.00	\$2,500.00	\$2,500.00	
4 6" CLDIP (11.25°, 22.5°, 45°) Bend	6 UN	\$600.00	\$3,600.00	\$500.00	\$3,000.00	\$100.00	\$600.00	\$357.00	\$2,142.00	
5 6" Solid Sleeve Coupling	1 UN	\$300.00	\$300.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$357.00	\$357.00	
6 1" Corporation Stop	8 UN	\$1,000.00	\$8,000.00	\$2,000.00	\$16,000.00	\$100.00	\$800.00	\$1,250.00	\$10,000.00	
7 1" Type "K" Copper Water Service	160 LF	\$40.00	\$6,400.00	\$8.00	\$1,280.00	\$25.00	\$4,000.00	\$9.00	\$1,440.00	
8 1" Curb Stop and Box	8 UN	\$900.00	\$7,200.00	\$280.00	\$2,240.00	\$600.00	\$4,800.00	\$500.00	\$4,000.00	
9 Monument Boxes (If and Where Directed)	1 UN	\$1,000.00	\$1,000.00	\$250.00	\$250.00	\$0.01	\$0.01	\$200.00	\$200.00	
10 Trench Repair, Type II	550 LF	\$40.00	\$22,000.00	\$12.50	\$6,875.00	\$10.00	\$5,500.00	\$40.00	\$22,000.00	
11 Install Sample Station	2 UN	\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00	\$10,000.00	\$20,000.00	\$4,500.00	\$9,000.00	
12 Borrow Excavation (If and Where Directed)	5 TON	\$50.00	\$250.00	\$22.00	\$110.00	\$0.01	\$0.05	\$10.00	\$50.00	
13 Undercut Subgrade Material (If and Where Directed)	10 CY	\$50.00	\$500.00	\$50.00	\$500.00	\$0.01	\$0.10	\$10.00	\$100.00	
14 Remove and Reset Pavers (If and Where Directed)	1 LS	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	
15 Test Pits (If and Where Directed)	3 UN	\$1,000.00	\$3,000.00	\$250.00	\$750.00	\$0.01	\$0.03	\$10.00	\$30.00	
16 Paving Repair (If and Where Directed)	10 SY	\$80.00	\$800.00	\$100.00	\$1,000.00	\$0.01	\$0.10	\$10.00	\$100.00	
17 Connection to Meter in Home (If and Where Directed)	2 UN	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	
18 Temporary Blow-Off	1 UN	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$8,000.00	\$8,000.00	\$650.00	\$650.00	
19 Concrete Curb (If and Where Directed)	10 LF	\$70.00	\$700.00	\$30.00	\$300.00	\$25.00	\$250.00	\$50.00	\$500.00	
20 Exposed Aggregate Concrete Curb (If and Where Directed)	10 LF	\$80.00	\$800.00	\$35.00	\$350.00	\$25.00	\$250.00	\$50.00	\$500.00	
21 Concrete Sidewalk (If and Where Directed)	5 SY	\$160.00	\$800.00	\$100.00	\$500.00	\$65.00	\$325.00	\$100.00	\$500.00	
22 Exposed Aggregate Concrete Sidewalk (If and Where Directed)	5 SY	\$170.00	\$850.00	\$125.00	\$625.00	\$65.00	\$325.00	\$250.00	\$1,250.00	
23 Exposed Aggregate Driveway Apron (If and Where Directed)	20 SY	\$170.00	\$3,400.00	\$135.00	\$2,700.00	\$1.00	\$20.00	\$75.00	\$1,500.00	
TOTAL BASE BID PRICE			00.00	\$136,9	13.13	\$148,0	070.00	\$153,469.00		

^{*}Non-responsive Bid

ENVIRONMENTAL RESOLUTIONS INC. SUMMARY OF BIDS	Cedar Street Water Main Replacement Project Medfor Township Burlington County, New Jersey												
Bid Opening 10/23/2024 @ 11:30 AM				25110 22									
			Coastline Excavating & Site Services		Mathis Construction Co., Inc.		MSP Construction Corp.		Landberg Construction, LLC				
		37 Indian Trail Southampton, NJ 08088		1510 Route 539, Suite 1 Little Egg Harbor Twp, NJ 08087		19 Minneakoning Rd, Unit B Flemington, NJ 08822		82 Tuckahoe Road Dorothy, NJ 08317					
			P: 856-986-8363 F: NO FAX		P: 609-296-3728 F: 609-296-2513		P: 973-465-9222 F: 973-465-5586		P: 609-829-2131 F: 609-909-1647				
NO DESCRIPTION	DESCRIPTION OTY UNIT		UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR. AMOUNT				
BASE BID	<u> </u>												
1 6" CLDIP Water Main, Restrained Joint	550	LF	\$130.00	\$71,500.00	\$95.00	\$52,250.00	\$175.00	\$96,250.00	\$190.00	\$104,500.00			
2 6" Wet Tap and Valve	1	UN	\$8,500.00	\$8,500.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$14,000.00	\$14,000.00			
3 6" Gate Valve and Box	1	UN	\$5,000.00	\$5,000.00	\$2,200.00	\$2,200.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00			
4 6" CLDIP (11.25°, 22.5°, 45°) Bend	6	UN	\$500.00	\$3,000.00	\$0.01	\$0.06	\$250.00	\$1,500.00	\$650.00	\$3,900.00			
5 6" Solid Sleeve Coupling	1	UN	\$500.00	\$500.00	\$10,000.00	\$10,000.00	\$250.00	\$250.00	\$650.00	\$650.00			
6 1" Corporation Stop	8	UN	\$1,000.00	\$8,000.00	\$2,400.00	\$19,200.00	\$1,000.00	\$8,000.00	\$600.00	\$4,800.00			
7 1" Type "K" Copper Water Service	160	LF	\$22.00	\$3,520.00	\$12.50	\$2,000.00	\$50.00	\$8,000.00	\$71.00	\$11,360.00			
8 1" Curb Stop and Box	8	UN	\$800.00	\$6,400.00	\$300.00	\$2,400.00	\$1,000.00	\$8,000.00	\$700.00	\$5,600.00			
9 Monument Boxes (If and Where Directed)	1	UN	\$500.00	\$500.00	\$115.00	\$115.00	\$500.00	\$500.00	\$250.00	\$250.00			
10 Trench Repair, Type II	550	LF	\$36.00	\$19,800.00	\$70.00	\$38,500.00	\$20.00	\$11,000.00	\$0.01	\$5.50			
11 Install Sample Station	2	UN	\$5,100.00	\$10,200.00	\$3,300.00	\$6,600.00	\$3,000.00	\$6,000.00	\$500.00	\$1,000.00			
12 Borrow Excavation (If and Where Directed)	5	TON	\$40.00	\$200.00	\$50.00	\$250.00	\$100.00	\$500.00	\$0.01	\$0.05			
13 Undercut Subgrade Material (If and Where Directed)	10	CY	\$35.00	\$350.00	\$20.00	\$200.00	\$50.00	\$500.00	\$0.01	\$0.10			
14 Remove and Reset Pavers (If and Where Directed)	1	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00			
15 Test Pits (If and Where Directed)	3	UN	\$75.00	\$225.00	\$250.00	\$750.00	\$500.00	\$1,500.00	\$0.01	\$0.03			
16 Paving Repair (If and Where Directed)	10	SY	\$110.00	\$1,100.00	\$60.00	\$600.00	\$100.00	\$1,000.00	\$0.01	\$0.10			
17 Connection to Meter in Home (If and Where Directed)	2	UN	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00			
18 Temporary Blow-Off	1	UN	\$1,000.00	\$1,000.00	\$4,948.00	\$4,948.00	\$500.00	\$500.00	\$4,000.00	\$4,000.00			
19 Concrete Curb (If and Where Directed)	10	LF	\$80.00	\$800.00	\$80.00	\$800.00	\$100.00	\$1,000.00	\$150.00	\$1,500.00			
20 Exposed Aggregate Concrete Curb (If and Where Directed)	10	LF	\$210.00	\$2,100.00	\$22.50	\$225.00	\$50.00	\$500.00	\$200.00	\$2,000.00			
21 Concrete Sidewalk (If and Where Directed)	5	SY	\$130.00	\$650.00	\$280.00	\$1,400.00	\$200.00	\$1,000.00	\$200.00	\$1,000.00			
22 Exposed Aggregate Concrete Sidewalk (If and Where Directed)	5	SY	\$260.00	\$1,300.00	\$185.00	\$925.00	\$100.00	\$500.00	\$250.00	\$1,250.00			
23 Exposed Aggregate Driveway Apron (If and Where Directed)	20	SY	\$230.00	\$4,600.00	\$72.00	\$1,440.00	\$100.00	\$2,000.00	\$300.00	\$6,000.00			
TOTAL BASE BID PRICE			\$155,2	45.00	\$160,8	03.06	\$166,5	500.00	\$177,815.78				

^{*}Non-responsive Bid

ENVIRONMENTAL RESOLUTIONS INC. SUMMARY OF BIDS					Cedar Street Water Main Replacement Project Medfor Township Burlington County, New Jersey								
Bid Opening 10/23/2024 @ 11:30 AM				25110 22									
			Crest Constru	action Group	Kiely Civil, LLC		River Front Recycling & Aggregate, LLC		M & O Excavating, LLC				
			880 Rout Little Egg Ha	rbor Twp, NJ	1 Radar Way Tinton Falls, NJ 07724		1301 N 26th Street Camden, NJ 08105		PO Box 185 Manahawkin, NJ 08050				
		08087 P: 609-698-2122 F: 609-698-2422		P: 732-813-6707 F: 732-222-3051		P: 609-267-4110 F: 609-267-8906		P: 609-389-6005 F: NO FAX					
NO DESCRIPTION	QTY	UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT			
BASE BID	1 4	01,111	51111110	11.100111	51111111	111100111	51111111	111100111	3111111	111100111			
1 6" CLDIP Water Main, Restrained Joint	550	LF	\$253.00	\$139,150.00	\$135.00	\$74,250.00	\$325.00	\$178,750.00					
2 6" Wet Tap and Valve		UN	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00					
3 6" Gate Valve and Box	1	UN	\$100.00	\$100.00	\$5,000.00	\$5,000.00	\$10,500.00	\$10,500.00					
4 6" CLDIP (11.25°, 22.5°, 45°) Bend	6	UN	\$100.00	\$600.00	\$300.00	\$1,800.00	\$750.00	\$4,500.00					
5 6" Solid Sleeve Coupling	1	UN	\$100.00	\$100.00	\$7,000.00	\$7,000.00	\$1,250.00	\$1,250.00					
6 1" Corporation Stop	8	UN	\$100.00	\$800.00	\$4,500.00	\$36,000.00	\$1,200.00	\$9,600.00					
7 1" Type "K" Copper Water Service	160	LF	\$1.00	\$160.00	\$15.00	\$2,400.00	\$100.00	\$16,000.00					
8 1" Curb Stop and Box	8	UN	\$100.00	\$800.00	\$2,100.00	\$16,800.00	\$1,000.00	\$8,000.00					
9 Monument Boxes (If and Where Directed)	1	UN	\$1.00	\$1.00	\$550.00	\$550.00	\$5,200.00	\$5,200.00					
10 Trench Repair, Type II	550	LF	\$10.00	\$5,500.00	\$10.00	\$5,500.00	\$25.00	\$13,750.00					
11 Install Sample Station	2	UN	\$300.00	\$600.00	\$9,500.00	\$19,000.00	\$630.00	\$1,260.00					
12 Borrow Excavation (If and Where Directed)	5	TON	\$10.00	\$50.00	\$80.00	\$400.00	\$50.00	\$250.00					
13 Undercut Subgrade Material (If and Where Directed)	10	CY	\$10.00	\$100.00	\$70.00	\$700.00	\$500.00	\$5,000.00					
14 Remove and Reset Pavers (If and Where Directed)	1	LS	\$1.00	\$1.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00					
15 Test Pits (If and Where Directed)	3	UN	\$1.00	\$3.00	\$700.00	\$2,100.00	\$250.00	\$750.00					
16 Paving Repair (If and Where Directed)	10	SY	\$1.00	\$10.00	\$50.00	\$500.00	\$25.00	\$250.00					
17 Connection to Meter in Home (If and Where Directed)	2	UN	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00					
18 Temporary Blow-Off	1	UN	\$1.00	\$1.00	\$970.00	\$970.00	\$1,200.00	\$1,200.00					
19 Concrete Curb (If and Where Directed)	10	LF	\$5.00	\$50.00	\$100.00	\$1,000.00	\$75.00	\$750.00					
20 Exposed Aggregate Concrete Curb (If and Where Directed)	10	LF	\$5.00	\$50.00	\$110.00	\$1,100.00	\$100.00	\$1,000.00					
21 Concrete Sidewalk (If and Where Directed)		SY	\$5.00	\$25.00	\$350.00	\$1,750.00	\$90.00	\$450.00					
22 Exposed Aggregate Concrete Sidewalk (If and Where Directed)	5	SY	\$5.00	\$25.00	\$370.00	\$1,850.00	\$125.00	\$625.00					
23 Exposed Aggregate Driveway Apron (If and Where Directed)	20	SY	\$5.00	\$100.00	\$400.00	\$8,000.00	\$125.00	\$2,500.00		•			
TOTAL BASE BID PRICE			\$188,2	26.00	\$224,6	70.00	\$282,0	085.00	NO BID				

^{*}Non-responsive Bid

ENVIRONMENTAL RESOLUTIONS INC. SUMMARY OF BIDS Bid Opening 10/23/2024 @ 11:30 AM				South State, Contr PO B Bridgeton,	ox 68 NJ 08302	Constru 3825 Edwards Cincinnat	reet Water Main Medfor To urlington Coun 25110 ct Connect Road, Suite 700 i, OH 45209	ownship ty, New Jerse		
			P: 609-381-0694		P: 856-832-4680					
NO	D DESCRIPTION OTY UNIT		F: NO FAX UNIT PR. AMOUNT		F: 856-832-4681 UNIT PR. AMOUNT					
BASI	1	QII	UNII	OINII I K.	AMOUNT	UNIT I K.	AMOUNT			
DASI	6" CLDIP Water Main, Restrained Joint	550	IE							
2	6" Wet Tap and Valve		UN							
	6" Gate Valve and Box		UN							
	6" CLDIP (11.25°, 22.5°, 45°) Bend		UN							
5	6" Solid Sleeve Coupling	1 UN								
6	1" Corporation Stop	8 UN								
	1" Type "K" Copper Water Service	160 LF								
	1" Curb Stop and Box		UN							
	Monument Boxes (If and Where Directed)	1 UN								
	Trench Repair, Type II	550 LF								
	Install Sample Station	2 UN								
	Borrow Excavation (If and Where Directed)		TON							
13	Undercut Subgrade Material (If and Where Directed)	10	CY							
14	Remove and Reset Pavers (If and Where Directed)		LS							
15	Test Pits (If and Where Directed)		UN							
16	Paving Repair (If and Where Directed)	10	SY							
17	Connection to Meter in Home (If and Where Directed)	2 UN								
18	Temporary Blow-Off	1 UN								
19	Concrete Curb (If and Where Directed)	10 LF								
20	Exposed Aggregate Concrete Curb (If and Where Directed)	10 LF								
21	Concrete Sidewalk (If and Where Directed)	5 SY								
22	Exposed Aggregate Concrete Sidewalk (If and Where Directed)	5	SY							
23	Exposed Aggregate Driveway Apron (If and Where Directed)	20	SY							
TOTAL BASE BID PRICE		NO	BID	NC	BID					

^{*}Non-responsive Bid